Quadratic
y=ao+ a1¥ + ax?

Linear |
y=ag+ a1 |

Slope = a
4 ! (Case of @, <0)

Cubic } Rectangular-hyperbolic
! a

2 3
y.—_ao+a1x+02x + asx Vi—=—
i X

() (d)

Exponential Logarithmic
y=>b" y = log, x

(e)

Figure 2.8
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TER 4 / FUNCTIONS OF ONE VARIABLE

Find some of the points on the graph of g(x) = 2x — 1, and sketch it.

Solution: One has Bt = 2ef 1y o |

=.=3,,80)i=2.0=1 = —1, and
B =1 Moreover, g(2) = 3. There are infinitel

is the graph. i

‘Some Important Graphs *

Some special functions occur so ofte

their graphs. You should in each case
of these graphs.

n in~applications that you should learn to recognize
make a table of function values to confirm the form

Figure 7 y = 43




